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10.

Chapter 5 Review
Express each radical as a simplified mixed radical.
a) \/54 b) /350 c) vo8x* d) {363x°y3,x >0,y >0
Express each mixed radical as an equivalent entire radical.
a) 4/5 b) 2313 ) 9x%/x, x>0 d) 5xy\/7y,x>0,y>0
Order each set of numbers from least to greatest.
a) -243,4/50,-+/14,35 b) V18,+/2, 6v2, /32
c) /60, -3 g,—JE,—Sﬁ d) 443, V12, 26, /20
Simplify each expression.
a) 7411-3J11+8J11 b) 4v3x - 42 +/3x —+/2
c) 9V6+12-/6+4 d) 657y + 4/5-37y
€) 3v20d +5v45d f) V10e —/90e + 4+/40e
g) 5vV3++12 - /48 + 275 h) /63 ++/75 — 2./28 - 3\/27
Simplify each expression. Identify any restrictions on the values of the variables.
a) 3vx—ax +/x b) V> + /9
€) VOX +xC — 4 — x+/Ox d) X2 /16y + 3y x*y
Simplify each expression.
a) ¥56 b) I8y c) ¥5- Y625 d) 35 + 43x — x¥27 — Yeax
Multiply. Express each answer as amixed radical in ssmplest form.
) (6V5)(243) o) (338)(Vi0) o) (V28)| 354 ]  o) (VareVax)

Simplify each expression.
a) 10(2/10++5) b) Vi5(3/5-3) ) 2/2(1+42) d) 3Vx(2vx-2)
Multiply using the distributive property. Simplify each expression.

a) (1++3)(3+3) b) (3+447)(5V7 +2) ) (1+5v2)(1-5v2) d) (4/3+3V5)

Multiply and ssimplify each expression. State any restrictions on the values for
the variables.

a) (&+1)(&—3) b) (x—\/g)(x+\/§) 0) (2&—1)(&+2) d) (2\/§+1)2



11. Divide. Express each answer in simplest form.

J20 Joo 45%° xv/18x°
a) — b) — C x>0 d , x>0
) % ) e ) x> ) e X
12. Rationalize each denominator. Express each radical in simplest form.
J10 815 25 521
a) —— by —= C) = d —=
NG ) sz N ) 70
13. Rationalize each denominator. Simplify.
J3-1 62+ 26 J18x —+/8x 2Jx++/8
b " x>0 d ,X>0
a) 7 ) Y C) 7 X > ) Tox X >
) 4 ) \5 9) \J15 h) 2J2-6
J3+1 J5-5 J2-43 2J6 -5
14. Solve each radical equation.
a) /x+3=7 b) \/5x =4 c) 3J5-3x=0 d) V-2x=24
e) J7x+1=15 f) Jy?+1-y=1 g) 8-v/1+v=5 h) -5=2-/2x+15
i) Vv4-3m=m i) Vxe-1=2Jx+1 k) n-+/n=4 1) V3x%+2=2x+1

m) /x+5=+2x-3 n) {y?-1=2Jy+1 0) V/3x+4=+x-2 p) \2p®> -3=.5p
q) Yw+l=Jw+4 N Vax+4-Jx=2 9 Jy+12-2=Jy t) Vx-5-/x+10=-3

u) v3++/x =4 V) 2=+/8x -4

Answers

1. a)3/6 b)5/14 ¢)7x2v2 d)11y,[3xy 2.2)/80 b)\/6877 )81 d)4175x2y3
3.2) 14, - 25,35, 50 b) V218,32, 642 0)-53, -0, ~3[2,~VI6 0)VI2, /20,206, 443

4.3) 1211 b)5J3x -5V2 ©)16+8V6 d)10J5-4J7y € 21/5d f)6410e g)13v3 h)—/7 —4/3
5.3) 2%, x>0 b)4x2y/x, x>0 ¢)—v/Xx - 2xJ/X, x>0 d)7x2\/§, xeR,y>0

6.2) 237 b) 2x§/x7y c)-4¥5 d) —2x

7.a)12J15 b)5/2 c)%lﬁ d)9¢  8.8)20+5V2 b)15/3-3J5 )2V2+4 d)6x-3v2x, x>0

9.a)6+ 43 b)146+23J7 c) —49 d)93+ 24415
10.a) X - 2/X -3, x>0 b) X2 -5 xeR ¢)2x+3/x -2, x> 0d) 4x+ 4/x +1, x>0

12206 9% 9B 123X p R 53 0

13. 3) 3—3\@ b) 2+§\/§ C)\/E d) X 2;2& e)2«/§—2 f) —1—\/3 g)_@_g\/g h) 8\/§+2\/?9—12—\/%

4

14.3) x =46 b) x:% Q) x:% d) x=-288 e x=28f)y=0g)v=8h)x=17 )m=1j)x=1,5

k)n:% I)x:—2+\/§ m)x=8 n)y=1,y=5 o) nosolution p)p=3 q)wz% ryx=0,x=16
9y=4 t)x=6 u)x=169 v)x=8



